Q-1

eng hin

IBPS RRB PO (PRE)-02/2021

In how many ways can 4 men & 2 women be seated in a row so that both women do not sit together?

Toha ToRTE | 4 e 3T 2 S=al 1 U Ui § ST Ay 6 Tl i uF arr 198 2

01. 120 02. 360
03. 720 04. 240

05. None of these

T ATE TE

Solution for Question 1

eng hin

Q-2

eng hin

6! - 5! x2!1 =480

Ans Key: 5

A person sold g of consignment at a profit of 45% and the rest at a loss of 35%. If there was an overall profit of Rs. 1034, what is the actual cost of
3

consignment ?

T STk AT HT % ART 45% ATH T AT & TAT AT AT 35% T T AT & FHA AT T2 37 1034 F. FT ATH SIAT &, AT T T H10d F47 8 2

01. Rs.5100 02. Rs. 5700
03. Rs. 6500 04. Rs. 6300

05. None of these
TAY q FIS A8l

Solution for Question 2

(2x 145

X 4
: - F— > |-x=10
.3 100 3 100

7

e

29x 13x

11x =1034 x 60

x = Rs. 5640

Ifyz: xz : xy = 1:2:3, find the value of .
YZ ZX

X
Zl'ﬁ'yz:xz:xy=1:2:3?ﬁ' —Il T /I ATT F|
VZ ZX

01. 2:1 02. 3:1
03. 14 04. 4:1
05. None of these

TH HHTE TE

Solution for Question 3

eng hin

I P

x=1,y 3
Xy:Zz = 6:3:

3 A
— =1
12 4

vz zx
=41

2
x.y_ 6
6

Ans Key: 5

Ans Key: 4



Q-4 Gita, Shweta and Sita invested Rs. 4200, Rs. 9600 and 5400 respectively while starting a business. At the end of the year, they earned a profit of Rs.
eng hin  24,000. Sita invested 32% of .her share of the profit in a saving scheme. How much amount is left with her?
AT, AT ST AT T FHA: 4200 F, 9600 F ST 5400 F H FHAHTT [F FIA & | T 6 37 H, Irgia 24,000 F FT ATH STrora FhAT| Har 7 =
TISTAT H AT T 32% . 1< 7 e o) sk oy et orfer =i 82
01. 6750 02. 4590
03. 2160 04. 2560
05. None of these
Solution for Question 4 Ans Key: 2
enghin  Gis : Sheta : Sita=7:16:9
Sitas' profit = aiidill] %8 =6750
. 32
Amount is lefi= ki L 4590
100
frar: a7 (& =7:16:9
Hiar T ey = @xg =6750
srefiafir= S720X68 _ 450
100
Q-5 In a class of 80 students and 5 teachers, each student got sweets that are 15% of the total number of students and each teacher got sweets, that are 25% of
the total number of students. How many sweets were there ?
80 BT 9T 5 forershi it Fel §, e 1 A1 [Horet [efl, S FeT @i it FeA1 A7 5% & A< S {orereh 1 foore fAedt g, S o e gt 1
AT FT 25% 21 Fohaet fereat «ff?
01. 330 02. 420
03. 400 04. 300
05. None of these
Solution for Question 5 Ans Key: 2
Q-6 Ram’s present age is three times his son’s present age and two- fifth of his father‘s present age. The average of the present ages of all of them is 46 years.

Solution for Question 6

What is the difference between the Ram’s son’s present age and Ram’s father‘s present age ?
TR T ATHE ST 3 T 00 AT AT F 1 AT & 37T 37 (Oar 7 aaqa T v F7 21-97=aT g1 37 T 67 a8 0 #7 $ied 46 a9 g a9
% A T AAHTT ST T T o O T FET o |/ 4T o7 g2

01. 23 02. 26
03. 46 04. 15
05. None of these

TAH F ATE Aol

Ans Key: 2

eng hin

R:SF=6:2:15

23 unit=46

1 unit=2

Difference between the Ram’s son’s present age and Ram’s father‘s present age= 13 x2=26
R:S:F=6:2:15

23 THTE =46

13315 =2

TTH o T T AW AT 3T IO % 9q1 T FG=1T o H 3% = 13 x2=26

Passage for Question 7, 8, 9, 10, 11 (ST-297RRBPOPRE(13-17M)2020-NP)
eng hin Passage

Study the following information carefully and answer the questions asked-

et TRt F 1 ea@EEF AT HFL AT TYTHT & IALA -

Given line graph represent profit percent (on CP) and discount percent (on MP) on five different articles




Q-7 If the cost price of P and T is equal to Rs 1200 each. Find the difference in their Marked Prices.
FTE P T T T AT &7 T F 1200 TTT F UG E | 7% A (ha oq & AT ATT FI07 |

01. Rs15

03. Rs27

05. Rs24
Solution for Question 7

ForP

&)

40:52:65...... coisio. A1)
ForT

CP:SP:MPis

T0 T : 1o (2)

to make CP of P and T same multiplying eq. (2) by 4,

CP:SP:MPis

40 : 56 : 64

So040=1200

==1=30

Difference in MP =65-64 =1,

so=1=30

P&y

CP:SP: MP

L e T R b)
T

CP:SP: MP

| e R AP P L) |

P 3R T 7 CP ¥9F F & 7w Tt (2) &l 4 H o0 6 T,

CP:SP: MP

40:56: 64|

3T: 40 = 1200
=>1=30

MP FT 3T = 65-64 = 1,

HAd:=1=30

R 3T S U AT ST TR T AT T (CP UR) 3T wge Tfaerd (MP 9%) &1 =it sz 8

Ans Key: 4




Q-8 If the marked price of S is 200% of market price of R, then find the selling price of R, if marked price of S is Rs 3150.
enghin T S FT i Toa R F AfHa 4o FT 200% &, S 7 Sifhd = 3150 703 &, AT R 7T [ To 1 Hirford

01. Rs 1050

03. Rs1150

05. Rs 1025
Solution for Question 8

rFor S:

CP:SPEMP =456 ccciiveiinracnnnns
ForR:

eng hin

CRSEMP = 5060 i sl

Mp of 8 is 200% of R.
200% of =18
Multiply eq. (1) by 3
CP:5P:MP = 12:15:1R8
Now 18=3150
1=175

6=1050

5 o farg

CP:SP:MP = 4:5:6 ...oevvveeeeenneen.
R-:_*ﬁa_"'l:

CP:SP:MP = 5:6:9

S T Mp R %1 200% &

200% of 9 = 18

TE (1) H3 TN FA R
CP:SP:MP = 12:15:18

Now 18 =3150

1=173

6= 1050

Q-9 Find the ratio of selling price of S and R if the cost price of both is same.

S T R T faohl G T AT ST FfSr 7f2 AT T AT HoF FAH 2

01. 24:29

03. 25:24

05. 23:25
Solution for Question 9

For S:
CP:SPMP-=4 :5:06 000 vei v sin a2
For R:

02. Rs 1100
04. Rs 1075

1)

2

(1)

02.
04.

NN
W (U8)
ol N
S N

)

CP:SPIMP =5:6:0 ...vvveeneeeeenn(2)

Multiply eq. (1) by 5 and (2) by 4
CP:SP:MP =20:25:30
CP:5P:MP =20:24:36

Required answer=25: 24

s & form:
CP:SP:MP =4 :5:6 cvvvveciinrnnnannns
R F fomm

CPSP:NMP =5:620 sri nsiiaiagisss

T (1) 15 TAT(2) T 4 F T FA T

CP:SP:MP =20:25:30
CP:SP:MP =20:24:36
afle =25 24

Q-10 Find the selling price of Q if the ratio of marked price of Q and Sis 5 : 1 and the cost price of S is Rs 3600.
enghin Q3T S % SiThd e T ATATT 5 2 1 ST S FHT AW Cod 3600 T &, AT Q 1 falsht Foa 1 Hrford|

01. Rs. 15500

02. Rs. 18900

Ans Key: 1

Ans Key: 3



03. Rs. 18250
05. Rs. 16340

Solution for Question 10

04. Rs. 19600

Ans Key: 2

eng hin

For S:

CP:SPMP =4:516 ..coovvvivaneernana(1)
For :

CP:SP-MP=14:21:30 ....c.oovcvennns . (2}
Here already ratio of MPof Q: Sis5:1
5o,

4 ==3600

1==2000

SPofQ=21=—18900

s & o

CP:SP:MP =4:5:6 ...ovveevrennnnana(1)
Qaqﬁ'ﬁ{:

CP:SPMP =14:21:30 .oovinaeineen(2)
TRIWQ: STEd5: 18

A,

4 == 13600

1==2000

SPofQ=21=18900

If the cost price of R and P is same, then find how much % the selling price of P is more or less than that of R.

72 R 3T P T ARTT o HATA &, AT S 1tord = P 7 fosr goar R A1 g1 | T % stfers a1 F37 21

01. 10.67%
03. 5.4%

05. None of these
TTH | HIE qol

Solution for Question 11

For R:
CP:SP-MP =5:629"_ ... 08 008 (1)
For P:

CP:SE:MPA0 (5206008 . 88 ... (2)

To make CP same, multiply (1) by 8
(1) gives CP:SP:MP =40:48:72
SP of P is 4 more than that of R

S50 4/28x100 = §.33% mors

Rﬂiﬁﬂ:

CP:SPMP=5:6:0 .......coeeiennnn (1)
P o foau:
CP:SP:MP =40 :52:66 ...vvveeiiveieannnnnn(2)

02. 9.25%
04. 8.33%

CP 1 G T o TeTq T (1) =T 8 600 T T

CP:SP:MP =40:48:72
PSP, RU4 FUFE
HT: 4/28%100 = 8.33% I

Ans Key: 4

Q-12

eng hin

Find the wrong term in the given series.

TS GATH TAT T ATT FITTY

90, 135, 286, 750, 2160, 6405, 19155

01. 90
03. 6405
05. 2160

Solution for Question 12

02. 750
04. 286

Ans Key: 4

eng hin

(90—45)1=3



Q-13  Find the wrong term in the given series
enghin 3T HGATH TAT T ATA HHITY

9, 14, 40, 129, 536, 2705, 16260

01. 14 02. 40
03. 536 04. 9
05. 129
Solution for Question 13 Ans Key: 2

enghin x1+5
x2+10
x3+15
#*4+20

Q-14 Find the wrong term in the given series.

ML FTATH T9q T ATT F1H™07)

8, 18, 64,272, 1395, 8424, 59045

01. 18 02. 8
03. 272 04. 1395
05. 64
Solution for Question 14 Ans Key: 5
|la+l)=2
(18+3)x3
(63+5) =4

Q-15 Find the wrong term in the given series.

ML FGATH TAq TE 7T FI™QY

17,36, 132, 635, 3500, 21750, 153762

01. 635 02. 17
03. 132 04. 3500
05. 36
Solution for Question 15 Ans Key: 1

enghin — (17.:1%)x2
(36+2°)x3
(132+3%)x4
(636 +47)x3

Q-16  Find the wrong term in the given series
enghin @V HGATH TAT T FTT FIAT

17,20, 46, 147, 599, 3015, 18018

01. 20 02. 46
03. 599 04. 147
05. 3015



Solution for Question 16 Ans Key: 3

eng hin  x1+3
%246
®34+9
x4 412

x5+1

Lh

Q-17 Given below are 3 statements with each question, you have to decide that which of the following statement/statements are necessary to answer the
eng hin  question.

A= form o s wor 3 A 3 e o Tu g, sraeht 97 99 FAr @ 56 v w6 39 o forw Mo ® & #1 9 ue / e arae T )

Find the height of an equilateral triangle.
HHATE st & 39S 1 Artora?

Statement I- Perimeter of the triangle is equal to the perimeter of the rectangle whose length and breadth are in the ratio of 5 :3.
Statement II- Perimeter of a square is known, which is twice the perimeter of the triangle.

Statement I11- Area of the triangle is known.

FAT [- ST 7 IRATT, ArA7d F TRHETT F qET g TAT AT % AaTs 31T FATETS 1 AT 5:3 B

A 11- 3 T THATT ST A7 323 17 2, 9 st & 9w &1 21 @ 3

FA 11 st &7 et feam T )

01. Any two of them 02. Any of them
FRAFE S B AT

03. Only Statement I1I 04. Either Statement II or Statement III alone
Faet A 111 FaT AT [ AT Faet FA 111

05. Statement I and either Statement 11 or
Statement 111
FT 1 JT FHI7 1 I7 F47 111

Solution for Question 17 Ans Key: 4

Let the area of triangle = 163m?
and perimeter of square =48 m
From statement I11:

¥.3 0~ S

From here side of the equilateral triangle and height can be calculated.
From statement I1:
18 -

IX2Z

w

e

And height of a triangle = a

Statement I: No conclusion.
So, using either II or III alone can find height.

wﬁgaw%w: 163 m2
ST o T 9T = 48m
EDEIT

fa 2

V34163

4
TR, THATE Pyt oY o[ 31 3= et w2
FATI T,

i

3IxX2 B

e = V3,

2

HIT1T,

1 T A
37, IT Al halcd S B IT e C & IS fHehTed Tk 2|

Q-18 Each of the questions below consists of a question and three statements numbered L, II and III given below it. You have to decide whether
eng hin  the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:
A RTTTTAF TR CFTT ATATFITL M AT FRTACE | AR TZIT FATEIMT R F97 § FAqag e wa FTITIIAF
forw oot € ar g asft a7 g shrswed:

A person can purchase three articles in Rs.49. What is the price of costliest article?



FTS AR 49 %, § A o G ThaT g1 AW o7 il A 47 22

Statement I : The cost price of two articles each is Rs.1 less than the cost price of costliest article.
Statement IT : The cost price of two articles is same.

Statement III: The cost price of costliest article is 6.25% more than the cost price of cheapest article.
FAA [ TN AT TAF 1 ARG o, Hgd a1l dF & AN GeT T 1 %, 2 |

FAT 1 TN G 6T AT Jod TH &

FAF 111 HH AT oG T AT JoT T T80 I 0T AW o7 & 6.25% ATEF g

01. T or (Il and III together) are sufficient 02.  Only II is sufficient.
13T (X1 & 11 T |72F) 997 & EEEIRpIt

03. Only I and II together are sufficient 04. Only I and III together are sufficient.
Faet [ AT 11 U |7 T30 8 el | AT 111 U |77 T4 &

05. None of these

T ATE TE

Solution for Question 18 Ans Key: 1

eng hin

Q-19

xtx+x+1 =49

3x =48

x=16

C.P of the costeliest price = 16+1 =17

So only the first statement alon is sufficient to answer the question.
x+x+x+1 =49

3x =48

x=16

TaH A a6 FT T b = 16+1 =17

Each of the questions below consists of a question and three statements numbered I, II and III given below it. You have to decide whether
the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:

TR T TT AR T R T TT AT FITL U AT T sTTR T T TT FATEAT PR AT fET ORI ITA FTSTIIA®
g aata &€ aradl ot Fa7 9 sSR!

In a kilometre race, by how many meters Chandu beats Chand?
e erie it 212 ¥, Fg Fhas diex H1 g & 9g FgRan 82

Statement I : In a kilometer race, Chandu beats Chandan by 100 meters.
Statement II : The respective ratio of the speed of Chandan and Chand is 4: 3.
Statement II1 : In a kilometer race, Chandan beats Chand by 150 meters.
FAF [ UF A H e T 1€ H, Ag 7 9& &l 100 Hie< ¥ g7

FA I & 37T F1q T A A7 Hferd Aqana 4: 3 g

FI7 1L TF Frerreies i1 g |, 5eq 792 F1 150 e F gl

01. TII or (I and II together) are sufficient 02. Only II is sufficient.
11 37 (1 947 1L T 97 9379 & Fae [l 7T g

03. Only I and (II or III) together are sufficient. 04. Only statement I, 11, and III together are sufficient.

el [ AT (11 T47 1I) UF 97 9379 8 A I, 11 7T 111 UF |97 9379 8
05. None of these

T ATE TE

Solution for Question 19 Ans Key: 3

eng hin

Q-20

eng hin

In the statement II, only ratio of speed is given therefore it is not possible to get our answer only with the help of statement IT .

By combining Statement I and II also we can find the answer as the ratio between the speed of two people is given and in statement I the distance between
the winner and loser is given so we can find the required distance as well.

So Statement I and I1II together or Statement I and II together are sufficient

FAF 11§ Faet T T ST 23T ST 8 6T Faer F24 11T Tgraar F & g/ 3¢ ITH FHIAT 499 781 8l

A 1 3T 11 % GATS & ST gH I 9T qO & FAI6 T AN 0T I 6 1 AT [3IT ST & ¥ FA [ § H F&3orar si g g & = it g0
& STIAT g 0 g/ 9™ LT S a7 |41

;A 1 ST 111 Tk &1 AT 6 [ 37T 11 T 9127 977 §

Each of the questions below consists of a question and three statements numbered I, II and III given below it. You have to decide whether
the data provided in the statements are sufficient to answer the question. Read all the statements and give answer:

TR RTITTAFITA CHF AT AT A FITL AT FET AT sSTITFT T TTFATRIT PR FITR fAC AU LTI I A FTITILIAH
g aata § a1 T FaT 0E sTIALI:

How much profit did the company earn in the year 2018?

F 2018 # FHOAT & FohaeT ATH g2



Statement I: The company earned 40% more profit in the year 2019 than that in the year 2017.

Statement II: The company earned a total profit of Rs.20 crores in the years 2017 and 2018 taken together.
Statement III: In the year 2019, the company earned 80% of the profit earned in 2018.

FAT [ FHAT F AT 2019 FF TAAT H a9 2017 7 40% (& ATH AT (0TI

FAT 11: 2017 3T 2018 H FAAT T A ATH 20 FIIES T E |

Fre 1L a9 2018 #, FO1 7 2018 H (TS A1 T 80% AfSi =Tl

01. Tl and (I or IT) are sufficient 02. Only III is sufficient.

1 =T (1 97 11 U |77 T30 & Faet [ TTH 8

03. Only I and II together are sufficient. 04. Only statement I, 11, and I1I together are sufficient.
Fae [ 4T 11 UF |97 7979 § e I, 11 T4T 111 TF |7 777 &

05. None of these
TTH HATE T

Solution for Question 20

Ans Key: 4

eng hin  Let the profit earned by company in 2017 =Rs. x and in 2018=Rs. y
Profit earned in 2019 = 1.4x
x +y=Rs. 20 crore (i)
From statement III,

e 0
¥ 100
41
X:__ ER
x= 2y (i)

hi Solution

AT 2017 § FOAT ZIT TSI AT = Rs. x 3¥ 2018 H=Rs. y
2019 ® YT ZIT AT AT = 1.4x

X +y =20 FE =0T (i)

FAT 1T,
L4x =y —
100
.l
x= 2y (i)

Passage for Question 21, 22, 23, 24, 25 (ST-297RRBPOPRE(18-22M)2020-NP)
eng hin Passage

Read the following information carefully and answer the questions asked-

et Tl F1 5917 & 9 T @ IO At F IR

Following table gives information related to performance of 6 Batsman in a tournament
ETeT T qTrorst U adTHe | 6 FecaTsil & T2 o Haterd ST aaT &

Number of matche: Average Runs Total balls faced Strike

mmeOwe

U = M = R R - R

Note:

e

20

28

Al % T T

20

28

Toumament

&1
38

55

i wn

Tourmameant

ZATz H Ty

e

i. Strike Rate = [Total Runs Scored/Total Balls Faced]x100
ii. All the given Batsmen could bat in all the given matches played by them.
ili. Few Values are missing in the table

129.6

114
72

66

129.6

114

66

i. a2 ¥ = [{A T ThIT / F/eA AT HT ATHAT HIAT T2T]x 100
i, R 1 Treft SrecraTet SAeh 5T B U At A= H oot T a9
iii. AT & g A AT 5




Q-21

The respective ratio between total number of balls faced by D and that by F in the tournament is 3:4. Total number of runs scored by F in the tournament is

eng hin  what percent more than the total runs scored by D in the tournament?
D 3T F 31T ZATHe & |THAT ¥ AT T et ST o o= 10 ST 3:4 8. TATHE | F 5T S¥T7 0 TA1 T F HEAT 36 A8 § D T a910
T A TAT T AT § FhaeT Traerd stfas 22
01. 200/9% 02. 150/9%
03. 350/9% 04. 325/9%
05. 100/9%
Solution for Question 21 Ans Key: 1
eng hin  F =D = [Strike Rate x Total Balls Faced]/100
F = 66x4x/100, D = 72x3x/100
F = Dx[(100+y)/100] 264x/100 = 216x/100 x [(100+y)/100] y = 200/9%
F =D = [¥2T2 Y& x |IHAT T AT FH A7 6T FeA7)/100
F = 66x4x/100, D = 72x3x/100
F = Dx[(100+y)/100] 264x/100 = 216x/100 x [(100+y)/100] y = 200/9%
Q-22 If the runs scored by E in last 3 matches of the tournament are not considered, his average runs scored in the tournament will decrease by 9. If the runs
eng hin  scored by E in the 26th and 27th match are below 128 and no two scores among these 3 scores are equal, what are the minimum possible runs scored by
E in the 28th match?
7f% ZATHE & Toeel qiF #=1 § E g7 a9710 70 A1 97 = 980 o6 Srat €, a1 g iHe H§ a9T0 T0 396 $iEq 7T 9 FHF 1 S| IfE 269 37
273 #= H E T I9TT T 7 128 | FH & ¥ 39 3 FhI2 § F FI o7 I FhIT G067 A5l &, ar 289 #9 H E T 410 T AqH §9F T F7 52
01. 137 02. 135
03. 141 04. 133
05. 130
Solution for Question 22 Ans Key: 1
x 5 1540
91 11sS
=
re below 128 and no t ores among these 3 scores are equal.S
27
theretor
e T T = & o T B o
= Y (e 3 Bt
[eh%
Hid o 2641 = 127
279t = 126
safae At = 137
Q-23 In the tournament, the total number of balls faced by Batsman A is 74 less than the total number of runs scored by him. What is the average run scored by
eng hin  Batsman A in the tournament?
TH ATHE | SeHAT A T |THAT 1 T2 &1 1 o H&AT 39 FIT a0 TU AT 6T F{ G697 H 74 FH | 39 A6 § Foddrs] A G a970 0
S T FT 2
01. 425 02. 395
03. 38 04. 44
05. 40.5
Solution for Question 23 Ans Key: 5
eng hin  129.6 = [x/x-74]x100

129.6x -9590.4 = 100x
x =324

Average = 324/8 =40.5
129.6 = [x/x-74]x100
129.6x -9590.4 = 100x



x =324
T = 324/8=40.5

Q-24 Batsman B faced equal number of balls in first 10 matches he played in the tournament and last 10 matches he played in the tournament. If his Strike rate in
eng hin  first 10 matches and Isat 10 matches of the tournament are 120 and 150 respectively, what is the total number of balls faced by him in the tournament?

Foorarst B aATHE § Igel 10 §=1 § i< sf&<r 10 741 § AT o S27a< H&AT FHT qTHAT 6T, 7S TATHe F Tger 10 F=1 § i sty 10 741 #
AT TITSH 1T HALT: 120 3T 150 7, TT ATHE H ITh FTT @l T AaT AT FeT Seq1 #7722

01. 1000 02. 1100

03. 1200 04. 1250

05. 1300
Solution for Question 24 Ans Key: 3
eng hin  (120/100)x(x/2) + (150/100)x(x/2) = 1620

x =1200

(120/100)%(x/2) + (150/100)%(x/2) = 1620
x = 1200

Q-25 What is the number of matches played by batsman C in the tournament?

eng hin Wﬁaﬁmﬁcm@ﬁwﬁﬁaﬁwwﬁv

01. 10 02. 16
03. 12 04. 18
05. 8
Solution for Question 25 Ans Key: 3
114 = (38x /400)x 100
x=12

114 = (38x / 400)x 100
x=12

Passage for Question 26, 27, 28, 29, 30 (ST-297RRBPOPRE(28-32M)2020-NP)
eng hin Passage

Read the following information carefully and answer the questions asked.

Frafafag ITaFTd # 1 e ® U AT T T97 F ST

2

Compound — —
Simple - —
Compound 40000 - 4
Simple 39000

Compound 20000 — — 4

% &
N
I

[EERNN S R T
& |

Q-26  Ifthe ratio of interest rate of E to that of D is 2:3 then what is the Principal of D?

eng hin TSI SITRTEY T SATIEF 72 1Y T2 70 7ot % 3% 4

01. 30000 02. 40000
03. 70000 04. 50000
05. 60000
Solution for Question 26 Ans Key: 4

enghin  R(%)=4x3/2=6
Principal —x
X + (xx3%6/100) = 59000
x = 50000
R(%)=4x3/2=6
et — x




Q-27

eng hin

X + (xx3%6/100) = 59000
x = 50000

If the interest is compounded yearly for three years then what is the amount to be earned by C?

T ST A AT 3 T AT TR 2 AT C T AR A T e 77 27

01. 42894.56 02. 44794.56
03. 44664.56 04. 44994.56
05. 46564.56

Solution for Question 27

eng hin

Q-28

eng hin

Amount =P(1 + (R/100)"3)

A =40000 x 1.04 x 1.04 x 1.04
A =44994.56

e = P(1 + (R/100)"3)

A =40000 x 1.04 x 1.04 x 1.04
A =44994.56

What is the Simple Interest of B ? If the ratio of Principal of C to that of B is 4:5 and the rate of interest is 10% more than that of C.
B T AL 54T 77 2?2 AT C FHAGT TAT B F TALT T AT 4:5 ¢ 3 4TS T 7% C T ToA1 | 10% AT 2

01. 6600 02. 8800
03. 4400 04. 2200
05. 11000

Solution for Question 28

Q-29

P =5/4 x 40000 = 50000

The rate of interest is 10% more than that of C.
R(%) =4 + (4%(10/100)) = 4.4 %
SI=[50000 x 4.4 x 4]/100 = 8800

P = 5/4 x 40000 = 50000

=TS T 7% C ¥ o1 & 10% TFere 2
R(%) =4 + (4x(10/100)) = 4.4 %
SI=[50000 x 4.4 x 4]/100 = 8800

If the Principal of A is 20% more than that of E, then What is the amount of A?
7fE A FT qerere B T qoT § 20% A 2, 71 A7 (Heres #4722

01. 25649.6 02. 24669.6
03. 24969.6 04. 24754.6
05. 23869.6

Solution for Question 29

Q-30

eng hin

Principal(P) of A =20000 x 120/100 = 24000

A =P(1 + (R/100)"N) = 24000(1 + (2/100)"2) = 24969.6
AT ET = 20000 x 120/100 = 24000

A =P(1 + (R/100)"N) = 24000(1 + (2/100)"2) = 24969.6

If amount of D equals to five times that of his Principal then what is the Rate of Interest(%)?

T D T Forree I YA % T0= AT % G397 ¢ qf 4TS ol 3% 47 82

01. 122.22% 02. 144.44%
03. 133.33% 04. 155.55%
05. None of the above

Solution for Question 30

eng hin

Amount of D = Rs.59000

Principal — x

Amount of D = 5x

5x = 59000 => x= 11800

ST = 47200

R =47200 % 100/ 11800 x 3 =133.33%
D =T {79 = Rs.59000

AT —x

D T fsrem = 5x

Ans Key: 4

Ans Key: 2

Ans Key: 3

Ans Key: 3



5x = 59000 =>x= 11800
SI =47200
R =47200 x 100/ 11800 x 3 =133.33%

Q-31  Find the value of variables and state the correct relationship.
enghin T FTHTT ATT HITAT TATAET G¥a=g FTA FIT0A |

x2—62x+897=0
y2—69y+1190=0

01. X > y 02. X< y
03. X> y 04. x< y
05. x=y or relationship cannot be established
x=y IT T T 7T FohaT ST &afam
d
Solution for Question 31 Ans Key: 5

enghin  x=2339 y=3435

Q-32  Find the value of variables and state the correct relationship.
enghin T FTHTT ATT FIAT TATAET G¥a=g FTA FIT07 |

X2+42.5x+686=0
y2+40.5y+399.5=0

01. X>y 02. X<y
03. X2y 04. X<y

05. x=y or relationship cannot be established
x=y AT T EATAT Al [T ST Fhedl

g

Solution for Question 32 Ans Key: 2

x=-24.5,-28 y=—17,-23.5

Q-33 Find the value of variables and state the correct relationship.
T HTHATT ATT 1A TAT TET GF=G A7 93 |

x2—104x-777=0
y2-223y+12432=0

01. x> y 02. x< y
03. x>y 04. x<y
05. x=y or relationship cannot be established
X=y IT T¥aiedl T gl (hAT ST Eehcll
d
Solution for Question 33 Ans Key: 4

enghin x=111,-7 y=111,112

Q-34 Find the value of variables and state the correct relationship.
enghin T FTHTT ATT FITOA TATAET G¥a=g {1 FI o0 |

X2-76x+1419=0
y2-20y-2709=0

01 x>y 02. x<y
03. x>y 04. x<y
05. x=y or relationship cannot be established
x=y IT TFg T AT FohaT ST et
g
Solution for Question 34 Ans Key: 5

enghin x=3343 y=43,63




Q-35

Find the value of variables and state the correct relationship.

enghin T FTHTT ATT HITAA TATAGT G¥a=g FTA HFIT0A |
x2-37x-287=0
y2-73y+1302=0
01. X > y 02. x < y
03. X > y 04. x< y
0S. x=y or relationship cannot be established
x=y IT Tl T AT FohaT ST &afam
Solution for Question 35 Ans Key: 5
enghin x=7+41 y=31,42
Q-36 The ratio between the speed of a train and a car is 16 : 15 respectively. Also, a bus covered a distance of 480 kms. in 8 hours. The speed of the bus is
eng hin  three-fourth the speed of the train. How much distance will the car cover in 6 hours ?
U 2 3T U FTL AT I 6 A1 HT AATT FHA: 16: 15 §| THF FAATAT, UF T9 480 FheAreiie? i1 g1 § 5 | a7 Fdl g1 T8 AT AT 7 ¥ T
H A-ATATE €1 6 =S H H12 fhasl g2 a7 FIMr?
01. 480 02. 450
03. 420 04. 400
05. None of these
T A AT AR
Solution for Question 36 Ans Key: 2
Speed of bus = 60 kmph
Speed of train = 60x 1 =80 kmph
Speed of Car = 80> — =75 kmph
16
Distance coverad in 6 Hours = 75 =6= 450 km
58 i Tid = 60 TRt/ Ee
S = 6.0><§:.5.0 ferelt / =ian
6 TE T T I = 75 x6= 450 T
Q-37 The largest and the second largest angles of a triangle are in the ratio of 3 : 2 respectively. The smallest angle is 20% of the sum of the largest and the
second largest angles. What is the sum of the smallest and the second largest angles ?
R[St T T A=T Sl THA qa9 AT R FHA: 3: 2 F ATIG H 2| T SIS H07 Hay a2 3T AL GG F2 T F T0THT 20% g1 T8 e AT
THL FaH IS HT97 FHT A0 FT 22
01. 600 02. 900
03. 750 04. 800
05. None of these
TAH F ATE Aol
Solution for Question 37 Ans Key: 2
eng hin  3x+2x+1x=180
=900
Q-38 A, B and C started a business by investing Rs. 20,000, Rs. 28,000 and Rs. 36,000 respectively. After 6 months, A and B withdrew an amount of Rs.

eng hin

8,000 each and C invested an additional amount of Rs. 8,000. All of them invested for equal period of time. If at the end of the year, C got Rs. 12,550 as
his share of profit, what was the total profit earned ?
A, B 3T C 7 FH: 20000 T3, 28000 I 37T 36000 FIF T A9 Feh T G| 4% [HAT| 6 AL F aT=, A =¥ B T 8000 w3 ¥ 77fer

T o T ST & T 8000 =43 ¥ rfafeh ey &1 Rarer foram) == w+ft 7 w9 srafer 3 forg Ferer fram afs ad F si@ &, c Fr e 6 ger & =0
H Rs 12550 fora, a1 et v 307 stfora o m?

01. 25000 02. 25100



Solution for Question 38

eng hin

Q-39

eng hin

Solution for Question 39

Q-40

Solution for Question 40

eng hin

Q-41

eng hin

03. 25200 04. 25300
05. None of these

T ATE TE

Ans Key: 2

A :B : C=20,000 x6 + 12000 x 6 : 28,000 x 6 +20000 x 6: 36,000 x6 + 44000 x 6
A:B :C=20+12:28 +20:36 +44

A:B :C=32: 48 :80

A:B:C=2:3:5

Sunit = 12550

10 unit =25100

A :B : C=20,000 x6 + 12000 x 6 : 28,000 x 6 +20000 x 6: 36,000 x6 + 44000 x 6
A:B :C=20+12:28+20:36+44

A:B :C=32: 48 :80

A:B:C=2:3:5

5 @TE = 12550

10 3FTE =25100

The speed of the boat in still water is 24 kmph and the speed of the stream is 4km/h. The time taken by the boat to travel from A to B downstream is 36
minutes less than the time taken by the same boat to travel from B to C upstream. If the distance between A and B is 4 km more than the distance between

B and C, what is the distance between A and B ?
QITT T ATa ¥ T 24 Foreft iy sieT & Si emey it i 4 6T/ 52T €1 AF B 9aTe AT Fd & (o0 919 g7 o am @ a7 g BH C
IaTg T AT F Forw U & A1 g forw U g6y & 36 e w79 81 Tt A S BF = 1 g B 3T C F = i T T 4 et arfaw g, AT

B % &= i g #1872

01. 50 02. 58
03. 52 04. 56
0s. None of these
TAY A TS Aol
Ans Key: 4

¥ 4f

16 men can do a piece of work in 30 days. 18 women can do the same piece of work in 32 days. 5 men and 12 women start the work and after some
days 5 men leave the work. Then 12 women complete the remaining work in 36 days. For how many days did 5 men and 12 women together do on the
work ?

16 =9 30 TaAT # U HTH F7 Gl 2| 18 ATATT 32 AT H TF &1 FTH F7 Thd | g 5 THT ¥ 12 AEATY FTH F Fd 2 A7 73 (ol % 918 5
T HH G &d 8| T 12 AiZeTT a9 7 36 AT § @7 F3dT g1 5 T2t o7 12 Aigarst 7 fFhaw 3=t 7% v arr w1 G

01. 12 02. 10
03. 9 04. 8
05. None of these

TAH F ATE Aol

Ans Key: 4

1om=30=181"x32
Sm= 6w
Gw+12w)x x+12wx 36 =18wx32

x=8

Study the following information carefully and answer the question.
Six letters K, P, M, N, O and G are arranged in such a manner that K is greater than G and smaller than P. N is smaller than only three letters. M is greater

than P and smaller than O. The number of highest and smallest letters are 20 and 10 respectively.

e ITasTd &1 eagEs AeaqT L A TTTFTITLRN
TE AAT K, P, M, N, O 3T G T =8 q¥g & =Aatead Fhar T 5 K, G T 927 2 3T P A Frer 81 N Faet €I oTei F Zrer g1 M, P ¥ 927 2 37

O ¥ FIeT g1 SFAH 3T TaH Gl 3TN 1 HEAT FHHA: 20 3T 10 T

N represents which number?
N frg degr w1 yfaf T Farg?

01. 15 02. 17



03. 18 04. 12
05. Cannot be determined/ & H@ ER
ST "ehdT
Ans Key: 5

Q-42

eng hin

Study the following information carefully and answer the question.
Six letters K, P, M, N, O and G are arranged in such a manner that K is greater than G and smaller than P. N is smaller than only three letters. M is greater
than P and smaller than O. The number of highest and smallest letters are 20 and 10 respectively.

FrafafEa TEFTd F 1 A\ EEF TeqTT F AITT FTITLLN
TE AATK, P, M, N, O 3T G &1 30 I3g & =7atead fFhar w1 g fF K, G T 9212 3T P FeT g1 N et S A1) T Grer g1 M, P T 92T 8 3%
O ¥ ZTeT 8| IFAH ST T Gl AN il TeAT HHL: 20 37T 10 Tl

If the number of P is 7 less than O and 2 more than K then what is the value of N?
I PHTEEAT, OF 7FAMIK A 2 ATHFE AN FTATTFATR?

01. 15 02. 17
03. 18 04. 12
05. 16

Solution for Question 42 Ans Key: 4

amea hin

Q-43

0 {200 >M>P>N>K>G {10

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

A T30 0 T T § UF T ¢ ST I8 A &1 HEA w0 17 11 2w a0 ) Forer S & et § @ 14 Ster v F 39 37 F
AT & IT A2l ZIA1 AT T II20 3T 3L «Aor |

What is the age of A?
AT A FATE?

I. B is 10 years old. B is elder brother of A.
IL. F is 25 years old.

I. B, 10 979 T 21 B, A %7 &7 AT 2

IL. F T o 25 a9 2|

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to TTE FIT 11 § TTET T T 3L a7 % (o0 TITT ¢ STateh A7 [ § STaT el T 7 3L a4 F
answer the question ﬁfle e 71%6( %I
TS FAF 1 H STeT T &7 IAL & % o0
TATH & ST FAT [ H STeT sThe T4 7
I I foru aote T2 2
03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question
statement II alone are sufficient to answer TS FIT [ T 1L 1 F7 FHATRT ST T 7T I o9 o [o70 9479 72l 2
the question.
T T T FAT [ H STeT et T FA7 11
H STET el $o1 T I 2 forg |
2l
05. If the data in both statements I and II
together are necessary to answer the
question.

e o [ Y 11 1 T T 57 &7
IAT 34 F o0 sraeT+ g

Solution for Question 43 Ans Key: 4

eng hin

The data in both statements I and II together are not sufficient to answer the question.

2 [ 37 11 IT T THATRE 27T 997 &7 I & % forw gty 781 g

Q-44

eng hin

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data
provided in the statements are sufficient to answer the question. Read both the statements. Give answer:

9 fRTTUIAF I T THTA§ AP 19 ST FITFATF [T Ferg g ) Fotg Afvra o wa1 § fearaarsrerys F 39%
I & frgaata § ITAEN 191 FI91 1 IFC {TITCEARRN

How is A related to B?

A, B & e were Hafera g2

L. C is the mother of B. A is the daughter of C.



II. B has a daughter. A has two brothers.
L C,BFTAMETZI A, C FT 9T 81
IL B &1 0% T 81 A% a7 472 &

01.

03.

05.

statement IT alone are not sufficient to
answer the question.

7fe A [ § STET T3 T I < o o0
TITH § Tt FAF 11 H STeT el T T

I 3 Forw gty 75 )

the question.

Irfe T a1 9 | § 1T 31t AT 69 11
T 7T 3Tl T3 BT I¥ o o TorT 92y

2l

If the data in both statements I and 1T

together are necessary to answer the

question.

e o [ 3T 11 21 1 [HATshe 57 &7
THY 2 % form oo 21

Solution for Question 44

eng hin

alone are not sufficient to answer the question.

If the data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in

T F2 [1 7 STeT WoT FT I 3 5 [o10 TITH g STateh HAT [ H TTET 37hel T HT IqL & &

[REERILE K

If the data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer

T F2 [ 37T [ A1 T THATHT STeT T FT 3T 4 & (o7 TITH T&l gl

The data in statement [ alone are sufficient to answer the question.

FI | | TTET T 3T 3T &4 & (o7 91T 2l

Passage for Question 45, 46, 47, 48, 49 (ST-02 RRBPO PRE R (1-5) 2021)
eng hin Passage
Study the following information carefully and answer the questions given below.
Seven persons L, M, N, O, P, Q and R travels on a train in three different classes I, IT and III. All of them like different colours. Two persons like blue colour, four
persons like red colour and one person likes green colour. All information given is not necessarily in the same order. Not more than two persons who like the same
colours travel to the same class. Not less than two persons travel in each class.
L travels only with the one who likes red colour in class I. P travels in class II. N likes blue colour and does not travel in class II. M does not travel with O and Q.
Q does not travel with P and in class III. R does not travel with L and O. R and M likes the same colour. O does not travel in class II and does not like the green
colour. L likes the same colour as N.

rafafaa ITasTd &1 eamgd & srea T F AT A9 Ry ag v w 39|
TTa =<k L, M, N, O, P, Q 3f¥ R Ti7 S 7-37eT A0t [, 11 37T I § T 27 H TTAT Fd 2| 37 T T TeWT- 30T T 989 ¢l &7 i<k T1eT 47 99E Fed
2, T STk ATl T T89S hed ¢ ¥ U A<k 40 3 THE FAT gl STEdT Al (o oF T8 Tt STt T&t 7 # 211 JH 47 T8 F4A a7l &7 F ATaH

T<h U 21 0l T T3 781 2 gl Teeh il § 7 T 7 a7 =A<h AT F2d 2l
Laaer it [ § 7T 397 TEE A Tl 6 "1 ATAT HAT g1 P it [1H I 71 g1 N T AT 37 96 ¢ T a2 Sof [ H J73 78t #ar gl M, O i Q
F T ATAT Al AT &l Q, P o | ATAT A1 F2aT g 3T iy I | g1 R, L 3W¥ O % T ATAT 48! F<aT gl R 3WT M &7 U 2f 497 76 g1 O it [ H

ITAT TET FIAT ¢ 3T G 3 T8 Tl HLaT gl LFHT N F TH W1 763 g

Q-45

eng hin

Who among the following person travels with L?

Freferfea § I = L3 | am=m #74aT 22

- R

Ans Key: 1

Ans Key: 4

01. The one who likes the green colour.
78 = S g TroEe 2
03. N
0S. Either (1) or (2)
ATAT (1) T (2)
Solution for Question 45
eng hin CLASS | CLASS Il CLASS Il
L- BLUE P -GREEN N - BLUE
R - RED
Q- RED O - RED
M - RED
goft | goft 1 goft 11l
L- frem P -0 N - e
R - ST
Q- @@ O -
M - dled




Q-46

eng hin

Which of the following combination is not correctly matched?

FReferfera & & #1991 S qet gated Tal 82

01. O-Red 02. R-ClassII
O - & R-oft I
03. L-Blue 04. N-Class1
L - e N - #ft [
05. Q-Red
Q — T
Solution for Question 46 Ans Key: 4
eng hin CLASS | CLASS Il CLASS Il
L - BLUE P - GREEN N - BLUE
R - RED
Q- RED O - RED
M - RED
goft | goit 1l goft 1
L- e P - & N - e
R - e
Q- a o -@m |
Q-47 Which of the following pairs likes red colour?
fAeferfed & & 1= |7 ST A1 47 968 FaT1 82
01. R, L 02. Q.M
03. M, P 04. P,Q
05. R, P
Solution for Question 47 Ans Key: 2
CLASS CLASS Il CLASS NI
L - BLUE P -GREEN N - BLUE
R - RED
Q- RED O - RED
M - RED
| aoft goft 1l goff 11
r e P - &9 N - Hid
R - ©Tcl
Q - did O -did
. M - TTel
Q-48  Four of the following five are alike in a certain way and hence form a group. Which of the following does not belong to the group?
eng hin  FeferfEa o § & = v [T a8 & qara § e zafore v a9qg o= 8| Fefofad § & w7 aqg % g&fgq 78t 22
01. R, M 02. PR
03. L,p 04. L,Q
05. O,N
Solution for Question 48 AnsKey: 3

eng hin

CLASS | CLASS 11 CLASS 1l
L- BLUE P -GREEN MN - BLUE
R - RED
Q - RED O - RED
M - RED
goff | goft 1 guff 1
L- e P -Ba N - e
R - ©el
Q- drid O -did
M - dled




Q-49

eng hin

Which of the following pairs travels in class I11?
fAeferfea & & wi=-ar g9 Soft [0 7= Fear 82

01. R,M 02. N,Q
03. O,N 04. N,R
05. R,Q
Solution for Question 49 Ans Key: 3
eng hin CLASS | CLASS 1| CLASS III
L- BLUE P -GREEN N - BLUE
R - RED
Q-RED O - RED
M - RED
guft 1 goft 1 goft 1
L- tar P-&1 N - i
R - @&
Q- @@ 0 -9
M - el

[ Passage for Question 50, 51, 52, 53, 54 (ST-02 RRBPO PRE R (6-10) 2021)
eng hin Passage
Study the following information carefully and answer the questions given below.
Nine people P, Q, R, S, T, U, V, W and X have their birthdays in one of the three months January, April and November on one of the three dates 9th, 12th and
17th. Only one person has a birthday on one date of one month.
Not more than two persons having a birthday between V and S. R has a birthday just after X but not in the month having the least number of days. W has a
birthday in the month of November. Only two persons have birthdays between T and W. The number of persons having birthdays between P and Q is one more
than the number of persons having birthdays between P and U. T has a birthday on a prime numbered date. Q has a birthday in the month having a maximum no of
days. P has a birthday on an even-numbered date. The number of persons having a birthday between Q and T is a perfect square. V’s birthday comes before S’s
birthday.

afafaa TTasTd &1 eamyd® AeqaT w2 A= frwaw i w377

AP, Q, R, S, T, U, V, W T X T STeH e I AEIA ST, @0t 3i¥ T § I ey ush § 9, 12 i 17 a18@ 1 211 €| TF 914 61 U g
FT Fa TF F<F T TATST 21d7 2

V 3T S T A= I | ATeT AR FT STHIRT qgl gl R FT STHIGT X & ST 918 & S Ta9 FH (&1 a1el Feid 7 q5i gl W FT STeafad 497 & AT 8§
21 T 3T W F We el &1 ARl T SeATed gl P 3T Q & o= Seafee atel safhat it 6T, P 3T U F a1= STeqfae aTer SR sl 9eqT § U sTfah
21 T T STPHTa STATST HEAT aTell A i gl Q FT STFHTG ATeHAH (oAl AT gl | gl P T STeH{ad T H&JT ATl TG &7 g1 Q 3T T fi=
SRS ATl AT T HEAT T 01 = g1 V T SIS S o Seafae # Tgel 911 2|

Q-50 ‘Who among the following has birthday on 17th January?
enghin  FEferfEd & & 17 & =af<h 1 AT 17 ST #7282

01. X 02. R
03. U 04. S
05. None of these
TAH F FIE AR1
Solution for Question 50 Ans Key: 2
enghin - M NoNTHS DATES
Gth 12th 17t
January Q X R
April V p T
November s U w
GIEiE
TET
Gt 126 174
CREL 0 X R
EREl i P T
GEERS S U w
Q-51  How many persons have birthdays between birthdays of X and U?
eng hin X 3T U e % e fhaw =Afhal T Seafad 2ra 82

01. One

02. Three



TH &=
03. Two 04. Five
ar T=
05. Four
IES
Solution for Question 51 Ans Key: 4
eng hin MONTHS DATES
9 120 17m
January Q X R
April v P T
November S U w
T
Gt 12 17w
R Q X R
EEEl v P T
LEERS S U w
Q-52  Who among the following has birthday just before the birthday of P?
eng hin TR -3 371 3 521% 7T SAESA, P 3F STAFR 1 40 TR AT 82
01. Q 02. U
03. v 04. W
05. None of these
TAH T TS AR
Solution for Question 52 Ans Key: 3
MONTHS DATES
Qth 12t 1
January Q X R
5 u W
Gth 12t 17w
[ A4 F |_‘1 X R
o i T
Q-53 ‘Which among the following statement is true regarding T?
T Tas ¥, Feferfea § I #i9 |7 %97 a7 22
01. T has birthday on 17th April 02. One person have birthday between birthdays of T and S.
T T SeHfaT 17 AIA 1 g T 37T S % HeT U AF FT STeA A gl
03. T has birthday in the month of maximum  04. Both (1) and (3)
number of days. T (1) 37T (3)
T =T Stertae, srfarshaw faet arer ge §
2l
05. None is true
FE A TE &
Solution for Question 53 Ans Key: 1
enghin - yONTHS DATES
Oth 12t 17t
January Q X R
April v P T
November 5 U w
GlEiE
Gt 12th 17
AT 0 X R
o Pl .y -~ "




AT ¥ ]
EEELS S U w

-

Q-54 Four of the following are alike in a certain way and hence form a group. Which one of the following does not belong to that group?
enghin  FEfeEa & & 9 v [T a8 & a9 2 T gaforg uF @9g avid 8| Feferied & & £ 97 39 99g 9 §619d Tl 82

01. v 02. W
03. T 04. p
05. X
Solution for Question 54 Ans Key: 5
enghin — NONTHS DATES
Gth 12tk 17m
January Q X R
April V p T
November S U w
EIEAE
T
Ot 12t 17t
T 0 X R
Syl Y P T
EEEE S U

Passage for Question 55, 56, 57, 58, 59 (ST-02 RRBPO PRE R (11-15) 2021)
eng hin Passage

In each of the questions below are given some statements followed by three conclusions. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically follows from the given statements
disregarding commonly known facts.

= F3T T S 77 § g A 3 69 a18 A ey {2 0 2| Sy fU T w2t S qeF qEAT €, W 21 F a3 a9 8 TH Sdid g gl
ot ARt 1 ad s e a7 T fay o (Aot # & 1 |7 et qrameT 9 8 S0 241 6t 974rg B Ear @0 70wt w7 aiids w8
AT FAT B

Q-55  Statements:

eng hir Only a few hammers are nail.
All nail are screw.
Only screw is box.

Conclusions:

I. Some box can be nail.

II. Some hammer are not nail.
111. All nail can be hammer.

FI:

FAT FF UL A gl
Y 7 = g

FAT T, AT 2

IRLEDF

. %F I 9 31 Tohd gl
1. T &AL 9 21 &

I 7Y 97 T T T &

01. BothIand II follow. 02. Only I follows.

[ 3T 11 FET ATHOT Fd B et 11 ATHLIT F2aT gl
03. Both I and III follow. 04. None follows.

1 7% 1M1 T SATHL F7d 2 TS STIETT Tl HdT 2l
05. AIlT, IT and III follow.

T L, 11 312 11 SIEeor 3d &

Solution for Question 55 Ans Key: 2

eng hin




Q-56

eng hin

Statements:

Only jam is bread.
Some jam are sweet.
No sweet is snacks.

Conclusions:

1. All snacks can be jam.

II. Some bread are not sweet.
III. Some jam are not snacks.

HY:
FIA T I
FTE T FFT A2l 2

Aoy

L. Teft #eT ST 27 a9 2
I1. % 5 T 1 7ol gl
11, |/ ST @ 71 B

01. BothIand II follow.

13 11 AT STEe 3 2)
03. Both I and III follow.

1 3T 11 ST SATET 0 B
05. None follows

FTE ATHL Tl HaT &

Solution for Question 56

= £ CD

02.

04.

Both II and III follow.

1 3 I FAT ATHLT FId 2
All T, IT and III follow.

T 1, 11 3 110 ST 3 &

Ans Key: 3

Q-57

eng hin

Statements:

Some hammer are nail.
Some nail are box.
Some box are key.
Only a few key is screw.

Conclusions:

1. Some screw are not key.
II. Some hammer are box.
II1. No hammer is box.

FIT:
T GHL A &

Fg A T g

G AT AT B
FAT FG T T B
o=

I FE g H 7 8
II. T gAT i 2



11 %7 0T a1 51 2

01. AIlIL IT and III follow. 02. Both I and II follow.
T 1, 11 32 11 STEeor 3 & 1 3% [ AT a0 3 2

03. Both II and III follow. 04. Either II or III follows.
11 3T 111 T SATET F3d & IT AT 11 37 111 STTE0T Fd B

05. None follows.
TS STAALT Tl FAT 8l

Solution for Question 57

Ans Key: 4

RO LIO I D
G G QEQ =)

Q-58  Statements:

eng hin  No Nagpur is Mumbai.
Only a few Mumbai is Kolkata.
No Kolkata is Gurgaon.

Conclusions:

I. Some Mumbai are Gurgaon.
II. Some Nagpur are Kolkata
1. No Gurgaon is Nagpur

FY:
FTE AN, Yo% 721 2

1. FTE TEATH, AR T21 2

01. AllL II and III follow. 02. Both I and I1I follow.
T 1, 11 32 I ST F3d &l 1 30 T11 2T SITE F:3d &

03. Both I and II follow. 04. Both IT and 11T follow.
IEIES I EIE R GRS 11 =72 [ 21 T80T 3 g
05. None follows
FIS AT Al HdT 2l
Solution for Question 58

Ans Key: 5

Q-59  Statements:
eng hin  Allpeais rice.
Allrice is wheat.
No wheat is grain.
Some grain is vegetables.

Conclusions:

1. Norice is grain.

II. No Pea is vegetables

III. Some vegetables are not wheat.

HqA:



IRLED F

I TS ATaA AT 751 2l
II. FTE HeT Taoft A8l &
111 % |iestat g Tal g

01. BothIand II follow. 02. AIlT, II and II follow.
[ 377 11 FET ATH0T Fd B T 1, 11 32 11 ST F:3d 2
03. None follows 04. Both II and 111 follow.
TS AT Tl Hal gl 10 3% 11 31T SIEeor 2 &)
0S. Both I and III follow.
1 37 [ T SHY0T 3 &
Solution for Question 59 Ans Key: 5

eng hin

Passage for Question 60, 61, 62 (ST-02 RRBPO PRE R (16-20) 2021)
eng hin Passage

Study the following information carefully and answer the questions given below it.

There are ten members in a family of four generations in which there are three married couples.

V is the sister of U and she is unmarried. S is the daughter-in-law of Q. W has two children. X is the grandmother of U. P is the father of V. W and X are married
couples. T is the nephew of V. Q is the mother of U. W is not the father-in-law of P. Z is the granddaughter of Q. R is a female member of the family.

T FITaFT F1aMYdF AsqIT R A Sad {13 Frgag s F I

=7 Nt F v aiaw # a9 geey § SaH d fFarka s 8

V, U a8 g 3T ag Afeated 21 S, Q fag gl W F & ag g1 X, UAT &1 g1 P, VAT faar 81 W sz X Aarfea S €1 T, VAT IR 21 Q, U &t wrar
21 W, P &1 897 981 21 Z, Q #T ¥=2iex gI R uRam &t UF Afger aae7 g

Q-60  How is R related to the son of Q?
enghin R, Q?‘F'fﬁefﬁ'_q THhTY e Terd 8?2

01. Aunt 02. Sister
e T
03. Sister-in-law 04. Mother
05. None of these
TAH HHIS Tl
Solution for Question 60 Ans Key: 1
eng hin
¢ () X=—W(+)

(-)JR—(+)P=0Q(-)
S(-)
(HT—Z(-)

M (+)=(-) V— (+)U

Q-61  IfMis married to V then how is S related to M?
enghin TR M, V& FanfRa g ar S, M & e wehre d&ifaq 22

01. Sister 02. Aunt



T Az

03. None of these 04. Sister-in-law
=7 A A ES————
05. Mother
HTAT
Solution for Question 61 Ans Key: 4
eng hin () X=—W(+)

(-)R—(+)P=0Q(")

M(+)=(-)V—(+)U S(-)
(+)T—2(-)
Q-62  How is Urelated to S?
enghin U, S & & ohme wafaq 22
01. Mother 02. Father
ATAT faar
03. Husband 04. wife
afa T
05. None of these
TAH TS AR
Solution for Question 62 Ans Key: 3
(- ) X=W(+]
(-)R {‘]'l'—“[ )
M(+)=(-)V- (+)U=—==5(-)
(+)T—Z(-)

Passage for Question 63, 64, 65, 66, 67 (ST-02 RRBPO PRE R (19-23) 2021)
eng hin Passage

Study the following information carefully and answer the questions given below.

A certain number of persons are sitting around a circular table facing towards the centre.

O is not an immediate neighbour of V. T sits second to the right of M. Two persons are sitting between N and T. R sits fourth to the right of the one who is sitting at
the immediate right of S. Only one person is sitting between T and S. The number of persons sitting between M and Q is the same as the number of persons sitting
between S and P. V sits third to the left of R. The number of persons sitting between R and V is the same as the number of persons sitting between S and O. No
one is sitting between M and R when counted from the left of M. P sits to the immediate right of V and to the immediate left of U.

fRafafaa srasrd &1 seqmgd® aegga R TR R agwwi® s

U [T et § =fh U g 39 F AW AT FF A AT I IR A8 2

0, V &7 [Feaq TSt 981 81 T, M % IT3 § &Y #19 9T 93T g1 T, M F I3 TEY T 92 37 g1 N 3T T % 97 7 ARE 9 81 R 39 A & a4 A1
AT 9T q2T & ST S F S 213 927 81 T AT S F WL el U A<k 957 81 M 3T Q F = 9 =gl ¥ 7T, S 3T P it 9 =i T 9ear %
T 21V, R % 74 S8 £09 9¥ §37 21 R 3% V F = 9 =atrgi 67 9T, S 3T O F 1= 3% safpat it 641 3 9979 81 M % 914 F 97 97 M 3fT
R % W& TS T21 957 21 P, V ¥ 3T 213 3T U F S a1 J31 21

Q-63 How many persons are sitting between R and Q when counted from the left of R?
enghin R%F a4 & {F 72 R &7 Q ¥ Aex e =xf<e 4% &2

01. Four 02. Six
E1E8 EE
03. Three 04. Five
A= T
05. None of these
L i
Solution for Question 63 Ans Key: 4
eng hin R

e T



Q-64  Which of the following statement is not true?
eng hin TSI & & F1 &7 F947 97 T 82

01. N is sitting exactly between S and V. 02. Four persons are sitting between M and N when counting from the left of N.
N, S 3fT V & & fi=9 § 9271 31 N % a7 & 99 7% M 3fi¥ N 3 "7eg =12 =7t 9% 2
03. O is an immediate neighbour of T. 04. Six persons are sitting between S and P when counted from the left of S.
O, T T Aeheaw 92Tt 2 S a4 F R 9% S ST P % Hey & =4T<h 9 2
05.  All are true.
Tl qe7 2
Solution for Question 64 Ans Key: 1

eng hin

-65 Who among the following is sitting exactly between R and Q?
B I IS S XY o
FafRE T T FARATQ F SF T ¥ J21 22

01. O 02. M

03. Both (1) and (5) 04. T
FET (1) 37 (5)
05. v
Solution for Question 65 Ans Key: 3

-66 If Q and M interchanged their positions then who among the following is sitting fourth to the right of the one who sits immediate right of M?
. £ P S who artons OWING 18 STNG TOUrth 10 D¢ gt 97 e one ¥ yediatenis
T Q 3T M 3TTH H S(IT TATH TG A 8, AT (MATEd § 8§ HIT M F 315 a1 98 A< % a4 91 819 92 937 82

01. U 02. N
03. p 04. R
05. None of these
TAH A ATE TRl
Solution for Question 66 Ans Key: 1

eng hin

Q-67 Maximum how many possible numbers of persons are sitting around the circular table?

enghin TR HS o AL AT ATAFAH et daTiaa Feam # =71f<n 95 82

01. Twelve 02. Ten
arE z



03. Fifieen 04. Sixteen
KES AITE
05. None of these
TAH HA(E Aol

Solution for Question 67

Ans Key: 2

eng hin R

Passage for Question 68, 69, 70, 71, 72, 73 (ST-02 RRBPO PRE R (24-28) 2021)

eng hin Passage

Study the following information carefully and answer the questions given below.

In a certain code language:

‘bank repo rate lily’ is coded as ‘#b4 , #£36, #b36, @;j24°.
“fall rise date tall’ is coded as ‘@b12 , #b8, #j36,@b40°.
‘send blue pond wall’ is coded as ‘#£38 , #k4, #p32, @b46’.

afafaa TTasTd &1 eamgd & qeqaT L AT A= g ag v F 397

REREIEEIERICIER

“bank repo rate lily” T “#bd, #£36, #b36, @j24° F ¥ § FHIf2a T AT 2
“fall rise date tall’ T ‘@b 12, #b8, #j36, @b40’ F & | Tt T =T 2|
‘send blue pond wall’ T ‘#£38, #k4, #p32, @b46’ F &7 H HIfed FFar 1T 2

Q-68  What is the code for the word ‘seven’?
9T5% “seven’ % o0 e FAT 2

01. @d38 02. #f38
03. @f38 04. #d38
05. @d36

Solution for Question 68

if second letter of the given
word is vowel then it
changes to its next letter, if
it is consonant then changes
it with previous letter.

| [1:.I='r'\'.1iiil'lll first letter is
bank: @/# b 4- multiplied by 2.

|

if there are repeated letters
then @ is used.

if no repeated letters then #
is used.

7% B ez F7 AT 9w =97 & A7 AE o0 e H aw LA s

&, 7f% 77 = § A7 e waw # 72 e s )

bank: @/# b 4— TET AT F TATAIT AIA AT 2 F O =T W4T )

A T TFITAT AT £ AT @ FT A= FAT = f
7% AT TTEITAT ALY AT § AT # FT TART BT 747 7

Ans Key: 3

Q-69 What is the code for the word ‘repo rate’?
eng hin 213 ‘repo rate’ % forg =/ e %?

01. #f36, #b36 02. #f36, #b4
03. @j24, #£36 04. #b4, @j24

05. #b36, #bd


mailto:‘@b12

Solution for Question 69

Ans Key: 1

eng hin

Q-70

eng hin

if second letter of the given
word is vowel then it
changes to its next letter, if
it is consonant then changes
it with previous letter.

place value of first letter is
multiplied by 2.

bank: @/# b 4

if there are repeated letters
then @ is used.

if no repeated letters then #
is used.

7% & 957 F7 T 997 T § A7 AE a0 997§ 95 e arar
£, 9% 77 =9 £ 77 gy 9w ¥ 7w TEr A E

bank: @/# b 4— TET AT F TATAT AT T 2 F 0T =T ATAT B

7T AT TEITAT TAT £ AT @ FT TANT FAT T F
% e FrgeraT 99 AT § A7 # 7 9= G v 3

“#k12’ can be the possible code for which of the following words?

#k12’, Fafafea § & o arsz %1 @9rfad e g1 aFar 8?2

01. Flower 02. Flight
03. Fight 04. Both (1) and (2)
(1) & (2) Tt

05. Both (1) and (3)
(1) 37 (3) T

Solution for Question 70

eng hin

if second letter of the given
word is vowel then it
changes to its next letter, if
it is consonant then changes

it with previous letter.

| place value of first letter is
bank: @/# b 4———multiplied by 2.

if there are repeated letters
then @ is used.
if no repeated letters then #

is used.
7if% o or=x 7 T @eT TE £ AT AT A9 997 H 75 A
£ A% 77 = £ A7 (g ou7 § 75+ A a8

bank: @/# b 4— TET FATF FATALT AT A7 2 F I B AT £

T SV ATETTAT TAT E AT @ FT T AT =
FFE F7 rETTAT 7 AT AT # FT TG0 B | g

Ans Key: 4

Q-71

eng hin

What is the code for the word ‘wall’?
9T5% “seven’ % o0 e FAT 2

01. #d46 02. #b46
03. @b46 04. @d46
05. @d36

Solution for Question 71

Ans Key: 3

eng hin

if second letter of the given
word is vowel then it
changes to its next letter, if

E . L T T ey SET L, It R L T R L



LS LUNLUHANL UICh CLllallgCo
it with previous letter.

place value of first letter is

bank: @/# b 4

if there are repeated letters
then @ is used.

if no repeated letters then #
is used.

multiplied by 2.

7% f2T orez F7 AT @9¥ T E AT AL AN A7 § A% f2AT Frar

£, T 9 =97 & 77 Frgm 9w ¥ aw R e R

bank: @/# b 4=— TET FATF TATAT 7T AT 2 F 07 T v £

T AT FEITAT AT £ AT @ FT A AT =y
1% 437 ZEITAT AFT AT E AT # T TH0T AT T A

Q-72  Whatis the code for the word ‘lily’?
enghin 9753 ‘lily’ % feTT iz 1 32

01. @24 02. #MP4
03. @d24 04. #438
05. @d36
Solution for Question 72
secon tter of the given
word rowel th It
chang ) its next letter, if
S consonantt I changes
wil revious letts
‘ ll._.l:'l"\'.lif_;l'te| st :I‘I:I‘:'

if there are repeated letters
n @ is used.

if no repeated letters then #

is used.

af% f2w st=z 7 797 WY F=AY £ AT AE A9 997 F g5 FAr a9

multiplied by 2.

bank: @/# b 4— TET FAT F T 719 F7 2 7 o0 AT WA £

|

% s0a7 ATETET AT 2 AT @ FT I AT =
¥ sreaw ArgeTaT 7 TAT § AT # w1 w=n By T g

IS

Ans Key: 1

Q-73 How many pairs of letters are there in the word ‘COMMEMORATION’ which has as many letters between them in the word, as they have in the

eng hin  English alphabetical series?

9152 'COMMEMORATION' H 3Te121 % UH fohael SIS 2 S 1= 3a &t 3TeA< 8 1o 3 SRIsht auiHTeT § 3% 1= 21d 87

01. Two
ay

03. More than four
B EIPED
05. One
TF
Solution for Question 73

02. Four
EIES

04. Three
GGl

Ans Key: 3

eng hin

_'_1—l
o
=z

I |




Q-74 How many such pairs of digits are there in the number ‘36827194354 each of which has as many digits between them in the number, as they have in the
eng hin  number series?

AT 136827194354 | (i o UH Tohaey T00 &, SH & To# % o1 34 o1 i ¢ forae o §ed1 J@dr § 394 a1 g 82

01. One 02. Three
TF LiE|
03. Five 04. Six
= B
05. More than six
EREEICED
Solution for Question 74 Ans Key: 5

eng hin

:

1
36827}94??4

| Passage for Question 75, 76, 77, 78, 79 (ST-02 RRBPO PRE R (31-35) 2021)
eng hin Passage

Study the following information carefully and answer the questions given below it.

Eight persons A, B, C, D, E, F, G and I are sitting in a row some of them are facing north and some are facing south. They all are going on holidays but in different
months of the same year viz. January, April, June, July, August, September, November and December. All the information is not necessarily in the same order. Not
more than two persons sitting adjacent to each other faces the same direction.

The immediate neighbours of B go after the month of August. E sits third to the right of A and to the immediate left of . F goes before G. D goes in December. I
goes in the month having the least number of days but not in the month of September. The number of persons sitting to the right of A is the same as the number of
persons sitting to the right of D. E faces south and goes in the month of July. B is an immediate neighbour of A. E sits at one of the extreme ends. The person who
goes in January sits at one of the extreme ends. E goes immediately after B. F sits to the immediate right of both G and C who goes in January. C and E face the
opposite direction.

Fafafaa ITasTd &1 eamgd s AegaT F ATITF A9 FrTaAg It F AL

a3 =4t A, B, C, D, E, F, G 3T 1 U 9Tk | 93 §, 30 F % H7 @ 30 a0l AT & oY TS 1 & (6197 67 A< g1 F T FigAT T2 S T 8 oA UF
BT AT F AT AT AT - ST, A, 7, S[ATE, ST, FBday, Fea A< fadqaw H| STedd 751 5 asfi S’ 26t #9 § i Uh-ga9 AT
& 3T & e =f<h qeT e it e 37 T8l Bl

BF Macar TSl Med F AEH F ae A ¢l EAF I TER AT [F AF ad G572 F, GTIZ AT 2| D REae § Srar 21 [T g H A @
forard et it dea qa w9 & AR fodee 3 98 7 726 A ¥ el e &% sxfeat ff "o, D ¥ arft e & safeat ff dear F awe 2 EFT e
ﬁﬁwaﬁaﬁtéaﬁra%'qaﬁ%%ﬁ%ﬁwﬁ B, A &7 Feheaw TSl 81 E &ifdw 0 & & UF 9% 937 g1 a8 SATE S SIqa<t | S1av ¢, et v sifaw
ﬁ'{\?{éﬂ%l E, B &1 arg sar ¢l F, Gaﬁrcﬁﬁ%ﬁaﬁﬂ'&wg ST STt § STaT g1 C 3 E faadia ferm it sie 39q@ gl

Q-75 How many persons are facing in the north direction?

eng hin  Tae (<Rt T 4@ I faem ¥ A7 27

01. Two 02. Three
ar GGl
03. Four 04. Five
1K 9=
05. None of these
TH TS AL
Solution for Question 75 Ans Key: 3
eng hin
(January) (April) (December)  (June) (July)
C F G A B I
et
(August) (September) (November)
FAAIT e Frviare S5 TATE
C F G A B I E
A ~ . a P A l ]
| | W v ! ! v v
e IEEERS EEEES




Q-76 Who among the following goes for a holiday in the month of August?
enghin  FETITET § & 19 o0 F AE I | el A ST 22

01. G 02. F
03. A 04. 1
05. B
Solution for Question 76 Ans Key: 1
RCEIE (January) (April) (December) (June) (July)
C A B I E
1t
(August) (September) (November)
€ F G A B I E
4 A ! : A a | |
| 2 2 2 2
Q-77 How many persons are sitting to the left of the one who goes on holiday in the month of June?
enghin ST Wel H el T ST ATel SAT<h 6 a4 {heel A 398 82
01. Two 02. Five
ar T
03. Six 04. Four
B RCIES
05. None
FIE T
Solution for Question 77 Ans Key: 2
(January) (April) (December) (June) (July)
C F G D A B I E
4 A | | 4 __an | |
T v vtV v
(Augu (Sept@mber] (November)
- - Gl AT
ELERIIE o 1 2
¢ I G A B I E
DA | 1 1 4 | |
PR B s
Q-78 Four of the following five are alike in a certain way and hence form a group. Which of the following does not belong to the group?
et 9= § & = vF [Rfem ade § 96979 ¢ oY TH0 UF 94 a97d o Fefied § § w9 99z & g4taq 7@l g2
01. C 02. F
03. A 04. B
05. E
Solution for Question 78 Ans Key: 5
eng hin (January) (April) (December)  (June) (July)
(o F G A B | E
T 4 ! D I | l
| | V Vo V. W
(August) (September) (November)
AT i fada A T
C F G A B I E
4 2 ! . T a4 ] |
T v v T v v

Q-79  Which of the following statement is not true?
eng hin  FeferfEa & & F19-a7 Fu @7 7571 82

01. A faces in the north direction. 02. F goes on holiday in the month of April.



AFT e 37 Rem & 21 F 181 3 92 § gl e S gl
03. Only two persons are sitting to the right of 04. More than two persons are sitting between A and F.

B. AT F % 9 37 & oFfars =7f<h o &
Fa 31 Ah B ¥ 314 95 3
05.  All are true.
aoft T 3
Solution for Question 79 Ans Key: 4
eng hin
(January) (April) (December)  (June) (July)
G 5 A B | E
—
(August) (September) (November)
W aIT ECEE T T
G A B [ E
4 a A i 2 o | |
I B 2 R B
BN IEEESS o

Q-80 How many such pairs of letters are there in the word 'PARROT' which have as many letters between them as they have in the English alphabet?
eno hin 958 'PARROT' # 57471 % U o 12 2, forwah ey & 3a+ 21 ereaw & fSoraw &1 57 = s3rsh aoramerT # 21 22

01. THREE 02. NONE
GG EIEREL
03. TWO 04. ONE
T TF
05. FOUR
T
Solution for Question 80 Ans Key: 3

(PR, RT)



